MEP Primary Practice Book 6b ANSWERS

See Lesson Plans at http://www.cimt.org.uk/projects/mepres/primary/

a) i) How manytimes 4is 162 i)  Write theirratio6 : 4 =4:1
b) i) How manytimes 16 is 4'%" i)  Write theirratio. 4:16=1:4
. . 1..2.4 N . o
c) i) Howmanytimes- is =? = i) Write their ratio in whole numbers.
2 3 3 2.1_4-3
2. 1.3 5z
d i) Howmany tlmes§ is = > I i) Write their ratio in whnllp nélmbers
-z = =3:4
e) i) Whatpartof8is5 ’% i)  What part of 5 is 8?% 2 3
B:G
The ratio of boys to girls in a school is 11 : 10.
a) How many girls are in the school if there are 220 boy¥® girls
b)  What percentage of the number of girls is the number of bay$?6
c) What part of the number of pupils in the school are the b%s?
Paul intends to plant 150 trees in his orchar¢ : ! !
He has divided the orchard into two parts | 30 30 | 30 30 30
in the ratio 2 : 3. ' ' '
How many trees should he plant in: a) the smaller part of the orcligrd?

b) the larger part of the orchard®

F D F D
From 1 kg of fresh apples you can get 150 g of dried app&d0 : 150 20:3

a) 1)  What part of the fresh apples is the dried ap[%'
i)  What percentage of the fresh apples is the dried ag@les

b) i)  What part of the mass of the fresh apples is lost in the drying pro,1_7lss?

i)  What percentage of the mass of fresh apples is 1dst? % 100 = 85%
2
c) Complete the table. 0

Mass of fresh

apple (kg) | 0 | 5 | 0| | 0|1oo|2o |1o | 1 |
Mass of dried| 0 ‘ 3 ‘ 5‘ ‘ ‘ ‘ ‘ 1.5‘ 0.1#
apple (kg) 4

Write different plans for each question. Use one of your plans to work out the answ
3 Ib of butter can be made from 25 litres of milk litre will make 3 Ib + 25 = 0.12 Ib of
a) How much butter can be made from 48 litres of milk?48 x 0.12 Ib =5.76 Ib

b)  How much milk produces 17 Ib of butter?
141% litres of milk produces 17 1b of butter.
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See Lesson Plans at http://www.cimt.org.uk/projects/mepres/primary/

The human voice travels through the air at 330 metres per second.

a) Complete the table.
Time(seconds} 1 | 2 | 3| 4| 5| 6 |6.5| 7|7%|20|
Distance (km) [0.33[0.66]0.99| 1.32|1.65[1.98 p.145 2.31|2.30| 6.6 |

b) Draw a graph to show the DiStince (km)

relationship between time 7 “a
and distance. : P
- . 4 —
c) Fillin the missing words. 4 _~
. 2 ,
The graph is a 1 il
straight line 0 > 4 6 8 10 12 14 1 1B 2

Time (seconds)

Time and distance are in  (irect | proportion.

Different vehicles travelled at different average speeds over a 40 km route.

a) Complete the table to show the time taken at certain average speeds.
Speed(km/h)( 4o| 3o| 2o| 16| 10| 8 | 5 | 4 | 80|120|1oo
Time (howrs)| 1 [1.33] 2 [25| 4 | 5 | 8 |10 |05 [0.33] 04

b) Draw a graph in your exercise book to show the relationship between a\@,

speed (in km per hour) and time (in hours). Speed
c) Complete the sentence. Speed and time are|ifyerse proportion. Tim
60 000cl

a) 600 litres of juice are poured into bottles which have a capacity of 75 cl.
How many bottles are neede@®0 bottles

b) How many bottles would be needed if the bottles had a capacity of:

i) halfalitree200 ii) 1litre 600 iii) 1.5 litres400 1iv) %(I)i(t)r(lajs?I
ottles
c) Show the data in a table. What kind of proportion do you notice?

inverse proportion

The volume of a
cuboid is 240 c/h a| 10 10| 10| 10| 10| 10| 10

If a = 10 cm, V=240cm| b | 1 3|6 |24|48|66] 7

complete the table cl24| 8| 4| 10| 5 | 3.6/3.43
for edgesd andc.

Which of the formulae has elements which are in: i) direct ii) inverse proporti

x f, A = 8x Db, b =—, 8 = = —, f= —
8 f e
Page 112 direct inverse Inverse

inverse 100 =e direct direct A A 100 100
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= 240’

See Lesson Plans at http://www.cimt.org.uk/projects/mepres/primary/ gravel

sand =80°
In a mix of concrete, the ratio of gravel to sand to cement is 6:2:1.

a)  Draw a pie chart to show the components of the concretg,ement 15: 40°

b)  How much gravel, sand and cement would be in these amounts of concrete:
i) 100 kg i) ltonne i) 7tonnes iv) 10 tonnes?

(66%: 222 113) (6662: 2222 111%) (4666%: 1555

©|n ©o|o

o lu

7 e 2 2 44 1
:7772) (66662 : 22222+ 1111 2Jall kg

If a handspan is 9 inches and an inch is 2.54 cm, calculate the missing values and write

them in the table.

In handspany 1 2 3 4 5 6 7 8 9
In inches 9 18 27 26 45 54 63 72 81
In cm 22.86| 45.72|68.04|66.04| 114.3 137.1% 60.02 182.88205.74

Dianne measured the table with her hand and its length was 6 handspans.
Then she measured the length of the table in metres and gtwas

6 1
a) Whatis the length of Dianne's handspan in metf@gnds =z m so 1 hand = ¢

b)  Write the length of her handspan in centimetres and in millimetres.
20 cm = 200 mm

From 1 kg of fresh ham we can get about 625 g of smoked harqugO :8625 IE:S :2
a) What percentage of the mass of the fresh ham is lost by smokidg2%o
b)  How much smoked ham can we get from 6 kg of fresh ham? 3.75 kg
c) How much fresh ham is needed to produce 6 kg of smoked hau®® kg

The areas of two rectangular gardens are equal. The first garden is 64 m long and
wide. The length of the second garden is 120% of the length of the first garden.

a) How wide is the second garder®b m

b)  Whatpart of the width of the first garden is the width of the second gazien?5
30 6

Write different plans to answer each question.

a) Whatis 32% of £524.50? b) Whatis 106% of £524.507?

: a) (32 + 100) x £524.50
What isp% of £524.50?
2 atisp o b) (106 X £524.50) = 100
c) (p + 100) x £524.50

Write different plans to answer each question.

a)  25% of which length is 72.5 cm? b)  125% of which length is 72.5 cm?

¢)  Whatis the whole length j% of it is 72.5 cm?@) 72.5 ¢m = 25 x 100
c) 72.5 + p x 100 (cm) b) 72.5 cm + 125 x 100
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a) What part is:

. 7 N

i) 3500f4007 i) 350 of 250’%
b)  What is the ratio between:

i) 350 and 400 i) 350 and 2507

7:8 ) 75

c) What percentage is:

i) 350 of 400 i) 350 of 2507

87.5% 140%

The ratio of the population of 3 cities (A,Band C) is 5:7: 8.

a) Colour this strip in different
colours to show the ratio.

A|A|A/AIAB B BB B|B|B|CGC|CC|C|C| (

b) How many people live in each city if the population of B is 80 000 more than
the population of A? 200 000 : 280 000 : 320 000

c) How many people live in the three cities altogeth&y®@ 000

d) What is the ratio of the population in each city to the total in all three cities?
Al:4 B7:20 C2:5

In a garden, 30% of the area is used to grow flowers, 20% of the area is used to gr
vegetables and the remaining area is used to grow fruit.

a) Calculate the area of the garden if the vegetable plot is 2201mM00 m?
b) Calculate the area used to grow: i) flow&?§ m? i) fruit. 550 m?
c) What is the ratio of the three different parts of the garden? : 5

Write a plan first, then calculate the result. Write the answer in a sentence.

a) The price of an item was £438 but in the sale the price has been cut by 10%.
i)  Whatis its sale price®0% of £438 = 90 + 100 x 438 = £394.20
i)  What percentage is the sale price of the original priee%

b) 28% of the inhabitants of a village live in blocks of flats.
i)  How many people live in houses if 406 people live in fl&#3&@ ~ 28 x 72 = 1

i)  How many people live in this village20 628 x 100 = 1450
i)  What percentage of the population of the village live in houses®

c) The price of an item was cut by 10% and it now costs £113.40.
i)  What was the original price of the itenf213.40 + 90 x 100 = £126
i)  What percentage is the original price of the reduced prigei?1%

d) What percentage is 31.5 of 988%
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Write the ratio of these amounts using the smallest posgitdke numbers.

a) 04, 0.12, 33, 4.18 | 20 |:| 6 |:| 165 |:] 209 |
3 21 11 _ . .

D 36 15 (18 (20 i[5 J:[ 2]

c) 12%%, 42%, 64.5%, 11% | 25 |:| 84 |:| 129 |:| 22 |

Solve these problems in your exercise book.

a)  Tom had blackcurrants, gooseberries, loganberries, raspberries and strawber
in his garden. One summer he gathered all the fruit and put it in his freezer.
This is the ratio of the fruit ifom's freezer. B:G:L:R:S =6:7:5:4:2
If there are 36 Ibs of fruit in the freezer, how many Ibs of each type of fruit did
Tom pick? 9kg:10.5kg:7.5kg: 6 kg: 3 kg

b) In a school with 1350 pupils, the ratio of boys to girls is 11 : 14 and the ratio o
teachers to pupils is 2 : 45.

i) How many girls and how many boys are in the schogf# POYS

. : 756 girls
i)  How many teachers are in the schoe(? g

c) The ratio ofredto blueto greenbeads in ajaris 7 :13:17. If there are
126 rad beads, how manylue and how mangreenbeads are in the jar?

blue 234  green 306

ries

f

A certain distance was covered by 6 different people in different ways.

®) Completethe table.  gpeeq (mmouf) 30 | 6 | 20| 4 | 10] 15 |

) gt o dsance navous | 1| 5 | 13| 75] 5 | 23

30 km Soeed
c)  Show the data in a graph. "y (km/hour)

. . . 30 1
d) Join up the points with 28

. \
a curved line. 26 \
24 \

22
e) What kind of proportion 20 \
is there between speed 18

. 16
and time? 14

12
...... Inverse ... 1o \\

f)  Read from the graph the
speed needed to cover the

distance in 4 hours.
8 km/h 1 2 3 4 5 6 7 8 9 10

Time (hours)

g) How might the 6 people have travelled the 30 knyzled

\\

o N O

A\
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Two greenmarbles and ongink marble come out of a machine one after the other in
a random order. Calculate the probability of each of these outcomes.

a) The first marble ipink.% b) The first marble i:green%

c) The order of the three marblegieen green pink. :1)_)
d)  The order of the marblesgseen pink green %

A computer program writes the letters A, B and C in a random order.
What is the probability of each of these outcomes?

2-1 2_1
a)  Thefirst letter is Ag § b) The second letter 5. 5~
c) Thethird letteris G _1 d) TheorderisB, C, Al

6 3 3

A computer program writes the digits 1, 2, 3 and 4 in a random order.
What is the probability of each of these outcomes?

6
b)  The firstdigitis 1.5

a) The first digitis 35 6 6
d) The second digitis 157

24 6
c) The second digitis 35

6 2 6
e) The last digitis 224 f)  The last digitis 424

g) The first two digits are 4, 3 in this ordg& h) Theorderis 3, 1, 2%4.

A computer program writes 2-digit, positive, whole numbers at random.
What is the probability of each of these outcomes?

10 _ 1
a) The numberis 37@% b)  The firstdigitis 8.95" =73
c) The last digitis 5. % d) Thefirstdigitis 0. o
e) Thelastdigitis0.9 _ 1 f)  The number is evenl
90 10 2

In a primary school, the number of girls is 176, which is 55% of the total number of
pupils at the school.

a) How many boys attend this schodl?6 + 55 x 45 = 144
4+ 176 = 320

20 pupils attend the school.
c) If a computer program prints out the files of all the pupils in a random order,
what is the probability of the computer selecting a file belonging to:
) agirl 176 o2 i) aboy?l44 o 2
320 20 320 30

b) How many pupils attend this scholo

In a drawer there are 2 dark gmycks and 3 dalue socks, all the same size. If you
take out two socks without Iooking at them, what is the probability of getting:

c) two socks of the same colour’?
a) L or10% b) — or30% Give the pobabilities as percentages.
10 10

a)) a pair of darl%qeysocks a pair of dadue socks?

c) % or 40% Page 116
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See Lesson Plans at http://www.cimt.org.uk/projects/mepres/primary/

A cash box containgold andsilver coins. The ratio ofold coins tosilver coins is
47 to 53. The number gflvercoins is 159.

a) How many: i) goldcoinsd4l ii) coing00 are in the cash box?

b) If you take out a coin with your eyes shut, what is the probability of the coin
beinggold? Give your answer as a percentage.141

0,
300 X 100 = 47%

In a game oRoulette a wheel is spun and a ball comes to rest on one of the numbers
— 0 to 36. The even numbers from 2 to 36 aren@tibers.

What is the probability of each of these outcomes?

s 1 2 2
a) Owins37 b) 21 wing= c) ©or8 wms?ﬁ d) 3lor34 wms37
e) 24or 250r26 wms37 f) 12< n < 17 Wlns?)—7 g) 1< n < 12 winsl2

h)  The winning number gives a remainder of 2 when divided 12 3. 37

37
i) A rednumber wins. %;; i)  The numbers 25 to 36 win. 25
37

In a pack of 52 playing cards, there a8cards (Ace, 2, 3,4, 5, 6, 7, 8, 9, 10, Jack,
Queen, King) in each ef suites: Diamonds and Heanted), Clubs and Spadebléack).

If you take a card from the pack at random, what is the probability that the card is:

4_ 1 1 1 1

a) an Ace~5—2 =13 b) la 913 c) €lub i d) ared card—

e) a Queen of Diamond§ f)  aJackor a King of Spadesi
52

g) anAce of Clubsr a King of Heartszl6 h) notanAce? 12
13

These are the probabilities for certain outcomes when throwing a dice.
— Write a question to match each probability.

e.g.
1 5
= p1) b O = d 1 =
) g PD B 07y o Fpen D lpeo) O 3,
1 2 1 , :
- —_ — /0 0 0
f) > Q) 3 h) 333‘V i)  50% ) 100%
p(even) p(>2) p(>4) p(even) p(>0)
These are the probabilities of certain outcomes when 4 coins are tossed one after the
T other. Write an outcome to match each probability.
e.g.
. 1 2 3 4
a) O05Tails b) — HHHH — TTTH — HHTH —
) ) 16 °) 1g d = e) ¢ HTHH
5 6 7 . 8 .9
— THTH HHHT — — =
N 5 9) I h) 76 THTH D ZTHTT D) 2 TTTT
10 11 12 13 14
kk —TTTH I) = HTHH = TTHH = —
) 6 ) T m) 1o n) 16 THTH 0) 16 THTH
15 Not 16 r) 50% HTTT
P 36 Hone @ g TTTH
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Calculate the sums.

a) 8 7.0 4 b) 4:3.0.2 C)§+1§=9_2_23
16071 7:2:1.4.5 9 5 45 7~ 45
80326 9:0:8,3
+ 9565 + 1116 d) 43.2+1o‘51 _54
114 666 9:6/69.0
Calculate the differences.
34 _ .10 5
a) 72049 b 6310.08 ¢ 2%—g=ﬂ—12—4=11—2
-52138 - 16341
1991 1 46 75.98 g 23%_15,05=8_7
Calculate the products.
66 _ .31
a) 682 b 415 ¢ 42x3=3 =15
x 36 x 0.7 1 5 7
40:9i2 415
2 20:460 2,90 50
24 552 2,9:465
Calculate the quotients.
a) [05775.8 p) 006333 ¢ 5%:2-8-40_,31
9518 3 26[1646.8 3 5 & 3 3
45 156
68 86
63 7.8
53 5 6
a5 g
8
100
L8
2 2 etc.
a)  Six friends went on a day trip in a minibus. They spent £186.50 on petrol and
_—_ £133.50 on food.
If they shared the costs equally, how much did they each have toffay.33
b) Bob wanted to fill a 260 litre barrel from a 545 litre tank full of water.
He transferred the water from the tank to the barrel using two 5 litre buckets at a
time. How many times did he need to fill the two 5 litre buckets® times
c) A beetle was 108 times as fast as a snail. If the beetle covered 54 cm in a certain
time, how far could the snail move in the same time? l om
d) The edges of a cuboid are 8 cm, 5.3 cm and 36 mm. What is its voiuine?

8cmx5.3cmx3.6cm= 152.64 cm3

Page 118
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The Ladder Game

Rule: A says a natural number from 1 toB.adds on a natural number 1 to 5.
A adds a natural number, 1 to 588 sum, and so on.

The winner is the player who reaches #@0 is the number to reach, aim for
the following numbers: 4 — 10 — 16 — 22 — 28 - 34 — 40
a) Play the game with a partner. b)  Work out a strategy for each player.

c)  Which player can be sure of winning each time if he makes no mistakes?
If A starts, then A should win. B can win only if A does not know the strategy or
makes a mistake.

ThelLadder Gamean be changed so that the player who says 'A6t ihe winner.
a)  Play this version of the game with a partner

b)  Work out a strategyif 40 is not the number to reach, then aim for 39:
3259 =15 521 =27 - 33 =39

¢)  Which player can be sure of winning this game if he makes no mistakes?
Player A should win if they use the strategy correctly.

X
a) Continue the pattern in your exercise book. g  o¢ o e ... XX
S X X X
- - - - - X X X X
Write the first 10 terms in this sequenceraingular numbers.
1,3, 6,10, 15, 21, 28, 36, 45, 55 X ¥
b)  Continue the pattern in your exercise book. * 3¢ 222 .. Xxxx
co e X X X X

Write the first 10 terms in this sequencesqtiarenumbers.
1,4,9, 16, 25, 36, 49, 64, 81, 100

A family gathered 4 kg of cherries from the 1st tree in their orchard, 8
from the second tree and so on. They always gathered 4 kg more cheryi
from the next tree than from the one before it.

a) If there were 10 trees in the orchamtiat mass of cherries was gathered altogether

4+8+12+16+20+24+28+ 32+ 36+ 40=220
b)  What mass of cherries would the family have collected if they had gathered 6
from the first tree and 4 kg more from one tree to the next?
6+10+14+18+22+26+30+34+38+42=240

X+ (x+1) + (x+2) =
a) 1+2+3 and 2+3+4 and 3+4+5 are exactly divisible by 3. =
What can you say about teem of three adjacent positive whole numbers?
The sum of any 3 adjacent numbers is always divisible by 3.
b) 1x2x3 and 2x 3 x4 and 3x 4 x 5 are exactly divisible by 6.
What can you say about theoduct of 3 adjacent positive whole numbers?
The product of any 3 adjacent positive whole numbers is a multiple of 6.

a)  The difference between two numbers is 2.1. What is the larger number if the
smaller numberis x? 2.1 + x

b) Laura hasi stamps. Laura and George have 125 stamps altogether.
How many stamps does George have?s -
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In a box of mixed fruit jellies, there are 60 sweets altogether BL:L:O:S

There are blackcurrant, lemon, orange and strawberry flavours in the ratio of 6 : 3 :

a) If you took out a sweet with your eyes closed, what is the probability that the
sweet will be:

i) Iemonﬁ 1)) strawberrylz—5 i) neither lemonor strawberry%
iv) not blackcurrantli5 v) orange onemonfg vi) banana?Q

b) What is thdeastnumber of sweets you must take out of the bag with your eyes
closed to beertain of getting a lemon jelly?
Number of lemon sweets = 75 =12. Hence least number is 49.

Practice calculation.

3 3 33 5 7 1 7 1 3 4 9 16
a —+-— =5b —+—- =150 —+==12 d) -+ = =1-—
) 7 4 28") 8 8 2 © 11 2 22 ) o " 13 17
5 1 _5 1 7 7 15_ 6 _3 11 4 11
e) — x= == —x—=709) —x—=2h =x_ ===
6 6 236 12 11 12 24 55 44 52 13 169

Do the calculations in your exercise book.

a) i) 9815+27082+90437 +8455 i) 541.3 +8325.6 + 1057.01 + 95

135 789 10877.91
b) i) 8350663049 i) 5421.19-27452 i) 25-3.81.6
20 457 2675.99 5
©) i) 3065x27 i) 43% i) 2073.4x207 ) 7L x025
82 755 185 761 4 291.938 8 1.96875
d) i) 6259+ 23 i) 3759.29 + 5.3709.3 i) 10% : ;—; 15

272 remainder 3

These are the probabilities for certain outcomes when drawing a card from a norma

pack of 52 cards. Write a question to match each probability.

e.g. black
a) 1 p(Ace) b) 1p(Heart) c) 1 p(red) d) 13P( )e = p(face ca
13 4 2 26 13
3 1 P(Joker) 5 : 8 :
U 9 hy = ) ) 0
52 26 13 13 p(5 Aces)
p(a Club face card p(2, 3,4,50r6) P(notHeart)

U

==

4 .

—

d)

Solve the problems.

a) The sum of two numbers is 8.3 and their difference is 1.1. What are the 2 numbers?

- 3.6 and
b) Ithought of a 3-digit number. Both the number andstheare rootof the an

number are 1 more than a whole 10. What could my numberbe?241, 961

c) Adam has 20 more CDs than Caroline. David has 15 fewer CDs than Belinda.

Caroline and David together have the same number of CDs as Belinda.

If David has 8 CDs, how many CDs does each person hay@% 35, Caroline 15

Page 120 David 8, Belinda 23
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Thebase sets the set of positive, whole numbers.

a)  Write 4 numbers which have exactly 2 factors. 2,350 . .

b)  Write a number which has exactly one factor. L

c) Write 3 numbers which have exactly 3 factors. 4 9 25 ................

d)  Wirite 3 numbers which have exactly 4 factors. 6, 8 10 ................
Simplify these fractions.
D 2 7 36 _ 3 56 _ 7 140 _ 5

a — = = b - = = C —_— = = d - ==

) 0 10 ) g T4 ) w7 ) 56 2

Decide whether the sum is exactly divisible by 3, then do the calculation.
a) (36 + 18 +27 +45% 3 = 42 Divisible exactly by 3

b) (36 +14+66+ 19% 3 = 45 Divisible exactly by 3

c) (45+73+46+90) 3 = 82,;r 2 Not divisible exactly by 3

Decide whether the sum is exactly divisible by 4, then do the calculation.
a) (33+41+62+240¥ 4 = 94 Divisible exactly by 4

b) (44 +60 + 20 + 12y 4 = 34 Divisible exactly by 4

c) (26+27+28+29F 4 = 27,r2 Not divisible exactly by 4

Decide whether the difference is exactly divisible by 5, then do the calculation.

a) (75-40+5 =7 b) (78-43)+5 =7
+5=47-92 e5 222242
C) (82—35).5—?—95 d (36-14)+5 =745
) (54-26)+5=28_.3 ) (90-36)+5 =54_ 154
5 = 10
5 5 5 5

(35+4 |+28)+7
Which digit could be written in the box so that the sum inside the brackets:
a) is exactly divisible by 72 or 9 b) gives a remainder of 3 when divided by%

c) gives aremainder of 6 when divided by 73r 8

Simplify the fractions in your exercise book. Check that you are correct.

4+6+8 4x6x%x8 10+ 25+ 55 10 x 25 x 55
a) — b) — C) E-— d) — e

9 96 Page 121 18 2750
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Write five 3-digit numbers which are exactly divisible by:

a) 2 b) 5 c) 10.

e.g. a) 120, 688, 142, 806,100 b) 215, 340, 105, 410, 635
c) 100, 110, 120, 130,140

N

Write five 4-digit numbers which are exactly divisible by:
a) 4 b) 25 c) 100.
e.g. a) 1004, 2096, 4108, 1000, 7596
b) 1075, 6350, 2025, 5100, 7575 c¢) 1000, 1100, 1200, 1300, 1400

£

Write four 5-digit numbers which are exactly divisible:

a) by2andby5 b) by 4 and by 25.
e.g. 13430, 76 000, 21 560, 55550  e.g. 26 400, 41 000, 70 900, 11 100

4 ‘ Decide on the remaindéefore doing the calculation by writing the remainder for
o each term below it.
a)  (45+63+18): 3 = 42 b) (41+72+81)+ 3 =641r2
0+0+0—> 0 2+0+0 —> 2
c) (53+90+19)% 3=154 d) (1000 + 100+ 10+ 6y 3 =372
2+0+1—> 0 T+1+1+0 —> 0
e) (300 +20+4) 3 =108 fy (4000 + 100+ 70 + 1¥ 3 =1390r1
0+2+1 5 O 1+1+1+1 —>1
) ‘ Write the remainder after dividing each number by 9.

a) 100 b) 200 c) 800 d) 900[ o |
e) 1000 f) 2000 g) 6000 5 | h) 9000[ o
) 819[0 | ) 7368[6 | k12534 6 | ) 88888

Decide on the remaindéefore doing the calculation by writing the remainder for eac
term below it.

a) (45+63+18)y9 =14 b) (41+72+81)+9 =215
—> 5

0O+0+0 — O 5+0+0
c) (B53+90+ 19y 9=18 d) (1000 + 100+ 10+ 6} 9 =124
8+0+1 — O 1+1+1+6 — 0
e) (300+20+4y>9 = 36 f) (4000 + 100 + 70 + 1y 9 =463 r4
3+2+4 — 0 4 +1+7+1 — 4

Write the remainder after dividing each number by 3.

a) 100 200 c) 800
d 900 [g 1000 f) 2000
g) 6000 [0 9000 [ 0 | ) 819 [ g |
) 7368 [ | 12534 [ o | ) 88888
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€.g9. 12510, 21411, 90 000,
Write four 5-digit numbers which are exactly divisi%le by 9.

a)
b) Increasethe numbers so that when the new numbers are divided by 9:
i)  thereis a remainder of 1 i) there is a remainder of 4.
12 511, 21 412, 90 001, 18 001 12 515, 21 415, 90 004, 18 004
c) Decreasehe original numbers so that when the new numbers are divided by 9
there is a remainder of 8.
12 509, 21 410, 89 999,17 999
a)  Writefour 4-digit numbers which are exactly divisible by33)00, 3 003, 3 006, 3
D b) Increasethe numbers so that the new numbers are exactly divisible by 9.
. 3006, 3 Oc]j,Shéi 0261’ 3
c) Increasethe original numbers so that when the new numbers are divided by 3
i)  thereis aremainder of 1 i) there is a remainder of 2.
3001, 3004, 3007, 3010 3002, 3005, 3008, 3011
a) Circle the numbers which are divisible by 2 and also by 3. %
- 23 461 4 183 560 44
b) Calculate the remainderwhen each number is divided by 6.
1 0 3 2 0
a)  Write thenatural 1 2" = " T80 154 155 157, 158
numbers from 150
to 170in the Venn Divisible by 4 Divisible by 3
diagram.
150, 153
160, 152, 164 159, 162, 165
b)  Complete this 161, 163, 166, 167, 169, 170
sentence.
A natural number is divisible by Ighly if it is divisible by and by| 4 |.
a)  Write thenatural : :
| numbers from 150 150 < n < 170 | Multiple of 6 | Not a multiple of 6
to 170_|n the correct Multiple of 4 156, 168 152. 160, 164
place in the table.
_ 151, 153, 154, 15%, 157
_ Not a multiple of 4/ 150, 162 |158, 159, 161, 1638, 165
b)  Complete this 166, 167, 169, 170
sentence.
If a natural number is divisible by 4 and by 6, then it is also divisible by |
E a)  Write a number which is exactly divisible by 7, 11 and 13. 1001
b)  Multiply 215 by 7, then multiply the product by 11, then multiply this product

by 13. Explain the result in your exercise booko 15y 1 001 = 215 215
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Calculate: a) five times% 16.25 b) one fifth of% c) halfofzﬂ
3 2
35 5

Write these fractions in decreasing order in your exercise book.

3 8 3 75 4 11 g 4 75 311 3

4 100 6’ 1000 5 20'10° 5’100’ 420’6

Practise calculation.

a) 1§+2§+3g—4%= 33%
b) 234x 0.34 = 7956

c) %,42 —12.45 x5= 111

d) gs— ¥ 2— é = 2.3

o 73 +9gg g = 40.95

fy 483+ 15= 322

Write a plan, do the calculation, check it and write the answer in a sentence.

a) If an adult eats on avera?e kg of bread each day, how much bread might be
eaten by a family of 6 adults in a Week?10 kg x 7) x 6 = 29.4 kg

b) A group of students decided to walk a distance of 24 km over 4 days.

On the first day, they walked 6 and 2 fifths km, on the second day they walkec
7 and 3 eighths km and on the third day they walked 5 and 3 quarter km.

2
What distance did they still have to walk on the 4th day?> (65 + 7% + 5% ) =
c) The income of a group of 6 friends over a period of 3 weeks was £4500 in the
week, £3725.40 in the second week and £4105.50 in the third week.

What was the average income per person per wgakz00 + £3725.40 + £4105.5
= £685.05

d) The Council has laid 192 km of a cycle track, which |%7r of the planned length.

i)  What length will the cycle track be when it is completéag 2 km=7)x8 =

i) Next year, the Council plans to extend the cycle track%yimes the =

19
40

first

70 (km)

0)+3+6

100
7

2
=k
147 m

km

original length. How long will the cycle track be then?

145 kmx23 - 333 km
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Write a digit in each box so that the quotient is a whole number.
a) (177-42])+5 b) (84+86])+7 c) (38 7]|-[1]5)+4
d) (26—1)+6 e) (7—7)+10 f) (15+@)+11

=4 I!!I%{

1724
3988
1264
8360
1012

172
397
125

835
101

OUrorT OoT o101~

1723 8 @54 8350 OlOll (\/ +6 +7
a)  Circle the numbers which are exactly divisible by 3. ég%é é;;g
b) Change 1 digit in each number so that the new numbers are exactly divisiggeg gggg
i) 4 i) 5 i) 6 v) 7 v) 8 vi) 9 1014 1015

(+8 1728, 3928, 1256, 8352, 1016) (+9 1728, 3078, 1251, 8352, 1017)

a)  Write the missing labels in the Venn diagram.

20 <n< 60 | 23 26 o931
2o 25 29 34 35
| Multiple of 4 Multiple of 3]
38
41

43

58 59 | Multiple of 6 49 g ar

b) Complete this sentence about what the digram shows.

A number which is divisible by 3 | and by| 4] and by|6 | is also divisible

by [ 12|
c) Write true statements about the different sections, including the empty areas.
e.g. the subset of numbers which are divisible by 6 but not divisible by 4 and not

divisible by 3, is empty.

Practise calculation.

1 1. .2 .1 5 Oy -
a) 4-+ +85-112,5 ,b) 364x436 0 E‘sﬁ+12.5x6-

6 4 3 19 4 1587.04 0 " o955
12 12
0,3, .10. 5 ram . 2
d 22 =22 2 e 16 x 12¢ f) 1864+ (/100
) 4 30 6433 )G %2304 ) ( ) 18.64

The 24 windows in the school library were being painted. A 2 litre tin of paint was

needed for every—332 windows. 24 = 2% = 10%

a) How many 2 litre tins of paint had to be bought? b) How much paint was left?

11 tins = 22 litres %of 2 litres = 1—? litres = 1% litr
Page 125
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Write the quotient as a fraction and as a decimal in your exercise book.

1 1 1
a) i) 1+2=5=05 ) 3+6=5=05 i) 479 +958 =, =0.5
3
b) i) 23+4=5,=575i) 345:6 :5%:5.750 1+4 :%:0,25
i 2 . 18
- ===04 = =— =36 1 = :A: A
c) ) 2+5 5 i) 18 +5 5 i)y 21 +5 £5 0.4]

d i) 3+16 = 136: 0.1875i)) 51 + 20 —57%): 2.55 i) 17 + 80 :% 0.2

e) ) 2+3=2_0666.i) 5+75=2-0666ii) 4+9=4
3 9

Convert the fractions to decimals in your exercise book.

a) B _o0671875 b 2 -0712 9 2 -37
64 125

a 2 =083 o) ¥ _046 n X -1527
6 30 36
2 u n 20 u n . 4 "]
£ =0.285714 hy <2 =0571428 i) — =o.

9) - ) = ) 17 036

At the end of the Second World War in 1945, ab%u;{ of the 3210 villages in Hungary
had electricity. By 1960, about 92.5% of Hungarian villages had electricity and by
1963,% had electricity.

a) How many villages had electricity in:
i) 19451261 i) 19602969 iii) 1963?3210
b)  Express the numbers in 1945 and in 1963 as percentages of the total number

Hungarian villages.
39% 92.5% 100%

L

—=0.444,..

125

of

In a factory on a certain day, 63 products were found to be faulty. This was 3.5% o
number of products made that day.

a)  How many products were made that d&§® ~ 3.5) x 100 = 1 800

b) How many products weret faulty? 1737

c) If this was an average day, what percentage of faulty products would you exp
there to be in a year? 3 5oy,

f the

eCt

The length of an aluminium cuboid is 150 cm, which is 150% of its width.

The height of the cuboid % of its width. 1.35 m x 2.25 m x 1.50 m = 4.55625 m?3

If the mass of 1 mof aluminium is 2700 kg, what is the mass of the cuboid?

12 301.875 kg
Page 126
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Write the numbers in increasing order.

1
a) 08 2 —09, % ‘g‘, —g b) 22, g, —%, g, —g
3 2 4 31 4 3 4
_0-9, -L_\’ 515;,; ,08 -?’-§’E’Z ’ZE
a) Round 7812 529 to the nearest:
D ) 10 iy 100 iii) 1000 iv) 1 000 000.
7812530 7 812 500 7 813 000 8 000 000
b) Round 5.465 to the nearest:
i) unit i) tenth iii)  hundredth.
S 55 5.47

Solve the equations.

a) 2.75+a = 7.14.35 D) b+% - 12 58 c) c¢-8.02 = 3.811.82

5 35
d 5-d-= 32 1.375 e) 72xe =365 f) f+42 = 105441
4 2 .1 5 : 7
T .iqg=% 3= h “+th=0 i — =1260
9 S+9=¢ 33 N ) -

6 (not possible)

a) James had a 6.25 m length of wire. He used 125 cm one day, then he used 1.

on the next day, theniz m on the day after that. How much wire was left?
6.25m- (1.25m+16m+25m)=09m
b)  The sides of a rectangular park are 800 m afdkm long.

What is: i) the perimeter of the park i) the area of the park?

c) Calum has 45 stamp¥anessa ha% of that number and George has 120% of

that number. How many stamps do Vanessa and George each have?
40 54

a) A box of sugar lumps weighs 650 g and each lump of sugar weighs 2 g.
If 6 sugar lumps were eaten:

i)  what mass of sugar was left i) how many lumps were left?
319 lumps
b)  The sugar content in a jar of honey is 83%. How much sugar is there in 45 kg

of honey? 37.35 kg
c) The weight of 1ciof steel is 300% of the weight of 1 €of aluminium.

i)  What is theratio of the weight of a 25 ctraluminium cuboid and that
of a 25 cm steel cuboid?1:3

i) What is themassof the aluminium cuboid if the steel cuboid's is 202.59%
i)  How many grams is 1 cfrof steel?8.1 g

iv) How many grams is 1 chof aluminium?2.7 g
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84% of an apple is water.

a) How much water is in these quantities of apples?

i) 1kg ii) 2kgl.68iii) 5Kkg iv) 3l kg v) 0.4kg
0.84 kg kg 4.2 kg 2294kg  0.336 kg
b)  What amount of apples contains these quantities of water?

)] 420 g i) 2.52kg
500¢ 3 kg

Two fifths of a garden had already been landscaped. Five gardeners were employée
complete the job. If they shared the remaining work equally, what part of the whole
garden were they each responsible f&? . = 3

5 °%25

Charlie spent his time between 2 o'clock and 6 o'clock in the afternoon doing differe

things. He went shopping fe% of the time, played with a friend fGiiﬂ of the time

1 2,1 .1_49
and read a book foré of thetime.5 4 6 60

a) What part of the time did Charlie spend doing other activit'ré%?
b)  How many minutes did Charlie spend on other activitiegd 11 _ 44 (mins)

When experiments in television broadcasting first began in 1923, scientists could o
transmit images across a distance of 2.5 metres.

Some years later, a Hungarian engineer, Denes Mihaly, who was working in Berlin
Germany, managed to transmit images across a distance of 1000 m.

a) How many times more is 1000 m than 2.5 @0 times
b)  What percentage is 1000 m of 2.5 m@ 000%

c)  Write their ratio with whole numbers1000 : 2.5
2000: 5

Emma bought shares in the stock market for £100 000 but very soon their value be
to fall. To avoid losing too much money, she sold half of her shares at a 15% loss.

Two weeks later, the value of her shares rose again and reached a level which was
more than the amount she had paid for them. She then sold the rest of her shares,

How much profit or loss did she make on the shar£8300 profit

%of Tom's money is the same%sof Frank's money. ;£16;5 ——+—+—— Tom(£8

p——j—————  Erank (£55)

a) If Frank has £220, how much does Tom have?  £220

o £412.50
b) Whatratiois: i) Tom's to Frank's money i)  Frank'sdon money?

412.50 : 220 440 : 825
825 : 440 Page 128
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Do the multiplications.

a) l X E X § X ﬂ X § X § = A
777 777 64
b) E X g X § X ﬂ X § X 9 = —720 (: i)
2 374 5 6 7 5040 17
4 7 3 O 60, O050_ _ 2520 / 1
© -9 X8 s *Od70*0s0" 15120 (“6)

Solve the equation then check your result.

40
4 - = 2.2
a) §<+15D+6 10 X
3 13 )
b) ngy:_ y:7
_ 1
C) 274:3‘—1 z =13

Calculate in your exercise book:
a) 0.70f415290.5 b)
d) 69% of 55003795 e)

1.430f19 2717  ¢) 3% of 34.21.026

210% of 46.196.81

What is the number if:

a) % of itis28.5 95 b) 25o0fitis826®B304 c) 12% ofitis 58485

d) 99% ofitis 346.850 e) 250% of it is 82602304

The lengths of the sides of a rectangle are 40 cm and 60 cm.

One of the sides of a second rectangle is 110% of one of the sides of the first recta
The adjacent side of the second rectangle is 1.1 times as long as the adjacent side
first rectangle. 40 by 60 44 by 66

What percentage of the area of the first rectangle is the area of the second rectang
121%

ngle.
of the

le?

The perpendicular sides of a right-angled triangle arez 10 cm,b = 6.2 cm.
If we cut 20% off sidex and shorten sioketog of its length, a 2nd triangle is formed.

a)  Calculate the area of both triangle§q -2 19 84 cm?2

b)  What percentage of the area of the 1st triangle is the area of the 2nd trizsigle?

c) What percentage smaller than the 1st triangle is the area of the 2nd triangle?
36% smaller
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Write each decimal as a division of one-digit numbers.

3 8 -1 9 . 2
a) 0.752 b) 167 c) 01 5 d 1.83 e) 0.6.5
fy 06252 @) 255 hy 11259 i) 03753 ) 016 1

8 2 8 8 6

Colour the equal values in the same colour.

(2 g (0'8)(\1;38 1%)0 80%:
OR X

Alw

Nl

a) Convert the decimals to fractions. Simplify where necessary.

. 341 . : :
i) 13.64 55 i) 9.015803 i) 0875 7 iv) 07 7 v) 555
200 8 9 111
b)  Convert the numbers to decimals. 20
. 11 .. 5 ... 19 . 1
I — I 1-—- n) = = Y —
) 5 044 i) 19 1625 i) 5o 095 V) £0.1666.. ) 11
0.272727...
Solve the equations.
- 3

a) a+326=282494 b) b-== 4% 191 ¢ 091 =1-009

5 35

2 11 3 27 1
d —xd== = e —ofe =e -25 f fx27 =—
)9 27 © ) g 100 ) 100 10
Q) g+9+42 =49 h) 1—%+h:2+5% ) 63+i =8l 07

45

What is the whole amount if:

5 42.16 km 4 25.425 litres 11 £77.09
a) 3 is26 km 350 m b) T is 6.78 litres C) G is £65 23 p

d 0.75is4 kg 308 g e) 1.06is7h4min f)  stpuare rootis 110?
5.744 kg 400 min 12 100

Solve the problems in your exercise book.

a) The area of one square is 25% of the area of a second square. If the first squ
has side 3 cm, what is the length of a side of the second sqaare?

b) The area of one triangle is 2 fifths of the area of a second triangle.
The second triangle has base 4.5 cm and height 3.2 cm.

i) What is the area of the second triangle?2cm?
i) What is the base of the first triangle if its height is 80 mim2 mm
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Calculate:

a) halfofB%1 b) one fifth ofg Cc) seven timesg.

e
1.9 20 = 0.175 18.2

A 1 metre metal tube weigh2596 kg. What is the mass @dur similar 7 metre tubes?

12.6 kg
: - _ 5 4 7 2 25 24 21 2
a)  Convert these fractions to thirtieths: & T 100 3 30 30 30 3
b)  Write the fractions in increasing orde. .. 4 5
3 10 5 6
c)  Whatis the sum of the fractionsd0 3
30 7cm
a) Draw a rectangle which has sides 7 cm and 4 cm | 4 cm

b) i) Draw its lines of symmetry.

i) Which plane shapes did you form by drawing these lines of symmetry?

' . rectangles .
c) How many times larger than the perimeter of one of the smaller shapes is the
perimeter of the original rectangle? 2 times

2(2+35)=11 2(7+4)=22 _
d) How many times larger than the area of one of the smaller shapes is the area
the original rectangle? 4 times

7cm? 28 cm?

Write:
a)  two 4-digit natural numbers which are divisible by 2, 5 ant60, 1260
b)  two 5-digit natural numbers which are divisible by 3, 4 and&5000, 30 300

List these fractions in increasing ordeé 1 60 13 14

5 10" 2’ 100" 20" 20
10 ‘_12_12 ‘_l3 ,_l4_14 1 3 60 13 7 14
20 20 20 20 20 20 2’ 5 1000 200 10 20

72 radishes are tied in equal bundles, with no radishes left over. How many radish
could be in each bundle (1 x 72),2 x 36,3 x 24,4 x 18,6 x 12,8 x 9,9 x 8,12 X 6,
18 x 4,34 % 3,36 x 2,(72 x 1)

a) Draw a point, then draw two 3 cm segments from the |
so that the angle thdgrm is 60°.

same rectangle, construbt rectangle.

c) Measure the necessary dimensions, then calculate:
i)  the perimeter of the rectangle i)  the area of the rectangle.

o

of

2x(5.2+3)cm =16.4cm 5.2cmx 3 cm =15.6 cm?
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19 193

2 4 .1 3 11 14 Y20
t5 +t7 -7 =50 "3

3242241242 = 3
3 5 2 4

N W
(o] e
o|oo

On the 1st day of a 4-day walking holiday, we walk%d kim. On the 2nd day we

walked 62 km and on the 3rd day we walke% &m.

If we walked 25 km altogether, how far did we walk on the 4th day75 km

a) Construct amsosceledriangle with base 3 cm long and arms 5 cm long.

b) i)  Draw its lines of symmetry.

i) Which plane shapes did you form by drawing these lines of symmetry?
2 congruent, right- angled,
c) Calculate the area of: scalene triangles
i)  one of the smaller shapes i) the original triangle.
3.58 cm? 7.15 cm?

A group of 8 people in an office earned these amounts over a period of 4 weeks.
1st week: £3684, 2ndweek: £3341, 3rd week: £3435.40, 4th week: £325

. } iod?
How much did each person eamm averageover the 4-week period £1714.65

6.80

In a recipe for making bread, 1 kg of flour produces 1.8 kg of dough. After the dou
has been kneaded and proved, it is put into the oven to bake.

During baking, the dough loses% of its mass. 1kg - 1.8 kg x 0.8 = 1.44 kg

How much bread can be made from 2 kg of flour using this recipegg kg

gh

Dad cut these lengths from a 2.5 m plank of woegdm, % m and > m.

8
What length of plank was Ieft’% m

a) Construct an angle @b5°.
b) Mark a point 4 cm from the vertex on one of the arms of the angle.

c) Draw a line which is perpendicular to the arm at this point and extend it to cut
the other arm, forming a triangle.

d) Measure the sides and angles of this triangle. 5.65 cm /}5°
e)  What kind of triangle have you drawright-angled isosceles 4 cm
f)  Calculate its area and perimeter. triangle 45

perimeter =4 cm + 4 cm + 5.65 cm = 13.65 cm 4 cm

area = 8 cm? Page 132
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15 b) gxl
15 6

2

3.5
c) 1l-x=1 d 2= x3=
15 ) 5 8 ) 4

QD
N
Alw
X
~Nl o
N
0

N

Write each percentage as a fraction and as a decimal43 a) 43% b) 206%

45 _ 206 _

100 = 0.43 =0 " 2.06
3 ‘ What are these parts of 8338 km? a) 0.67 b)% 4 L c) 86%
o 561.46 km 36313 km  720.68 km

B

A container wasg full of honey. Then 2 thirds of this honey was sold.

: : : 4
a)  What part of the container still contains honeyz

b) If the container has a capacity of 50 litres:
i)  how much honey was sold 26 %Iitres
i) how much honey is left? ;5 L .. o
3

ol

A jewellery firm bought 3.6 mof gold leaf. First 15% of the gold leaf was used, then

% of it, then 0.4 of it.

2
3.6 X 0.15) + (36 X —) + (3.6 X 0.4) m?
a) How much gold leaf was used alt0w_(' ) 9 ( ., 75 EQ

b) If the firm employed 10 craftsmen, how much gold leaf did each craftsman use

on average?
g 0.278 m?

N
o

1 103 _69_,9 1 30.2 _109 .19
a Z+2=0x =2 =55=3 b Z 25 x = =Y —g2d
) %2 40 5 20 ) % 3 3

=l

What quantity is:

a) Z2o0f543m b) Tof6ls5kg c) 2 of 15% km d) 1.17 of 63.3
2
362 m 1076.25 kg 38.5 km 74.061 m

In 2003, a firm planned for an income of £25.7 million. They exceeded this plan by
20%. How much income did the firm actually achieveg30 84 million

During a sale, the price of a £185 suit was reduced by 13%, then reduced again by
a) By how many £s was the price reduced? b) What was the new price?
£49.19 £136.81

B

Construct ahombus which has an angle &@0° and a longer diagonal of length 7 cm.

Measure the necessary data then calculate the perimeter and area of the rhombus
P~4cm+4cm+4cm+4cm=16cm

Page 133 A~ (7%x4+2)cm? =14 cm?
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An observatory on a mountain in Scotland measured the temperature at 6 am each day

during the second half of February. This table shows the data collected.

Day ‘ 15th‘ 16th‘ 17tl'{ 18% 19t‘1 20[‘h 21%t 22f|d Z%rd 2>4th 452|6th‘ 27t|’{ 28t|+
Temperature‘ 0 ‘ -1 ‘ —4‘ —5‘ —2‘ —3‘ —21 +J[ +% 0‘ —)1 +1 +2 +2
(°c)
a) Draw a graph to show how the temperature changed.
b)  Calculate theneantemperature. -10 + 14 =- 77 =- ?— (°C)
a) 5:2 p) 16+41 ¢ 54s5t 100+ % 15400 33
3 32 _ 35 2 135_ 405 55
3 ‘ What is the whole quantity if:
- 1 ... 2 ... : B ofiti
a) —ofitis 28 kg b) 3 of it is 28 litres C) 2 ofitis 121 m
112 kg 42 litres 44 m
d) 1ﬂ of it is 189 cm e) 0.17ofitis 61.2g?

105 cm 3609

&

What is the whole quantity if:
a) 1% s £4.25£425 b) 1%is0.7m m c) 25%is 32.6 kg

_ _ 130.4 kg
d) 10% is 43.75 km e) 50% is £159.807?
437.5 km £319.60
2 1 ,1g..1 _ 41 11
a 6.2+58)+ — =18 b —=—3—5+1- = = =1 =
5‘ ) )3 )%’4 s "2 30 130

What is the whole quantity if:

a) Lofitis315cm  b) 4 ofitis6llm  c)  65%of itis 20.28 kg?
360 cm 3 141m 31.2 kg

~

A country bought 1 199 300 tonnes of oil, which was 33.5% of its imports that year.
What mass of goods did the country import that yeaB?580 000 tonnes

LXWxH=140cm x 98 cm x 63 cm
The length of a cuboid-shaped iron block is 140 cm. Its width is 0.7 of its length an

13 of its height.

o

57 428 cnf
a) Calculate: i)its surface area i) its volume. 864 360 cm®

S.A.= 2 x (140 x 98 + 140 x 63 + 98 x 63) cm? = 57 428 cm?

b) How much does the block weigh if 1 €of iron weighs 7.6 g? 6.569 tonnes
Page 134
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Use the first difference to work out the value of the other differences.

a) 236.8-46.3 =190.5 b) 236.8 — (46.3 + 2) 488.5
c) (236.8-5.6)—46.3 584.9 d) 236.8 — (46.3—3) 935
e) (236.8+2)—(46.3-1) £93.5 f) (236.8 — 1) — (46.3 + 1) £38.5

g) (236.8+10)—(46.3—10) 10.5  h) (236.8—6) — (46.3—6) 190.5
) (236.8 +a) — (46.3 +b) 490.5 + a- bj) (236.8 — 3) — (46.3 — 5 =190.5 + 2¢

Use the first product to work out the value of the other products.

a) 325x 15 =4875 b) (325x 3) x 1.5 =1462.5
c) 325x (1.5x 3) =462.5 d) (325+ 5) x 1.5 =97.5
e) 325x (1.5+ 3) =162.5 f) (325 x 0.2)x (1.5x 4) =390
g) (325+4)x (1.5+ 3) = 40.625 h) (325x 11)x (1.5+ 11) =487.5
) (325+ a) x (1.5+ b) =487.5 j) 325x a)x (1.5+ b) = 487.5a
ab b
If x+y =2z, what are the results of these operations?
a) (x+23)+y =z+23 b) x+§/+D—ﬂ%— z- 3
O 0O .10 _
C) 3—EH+y =z+ 3— d x+12)+y+16) =z+2.38
e) X-=-7+y+7) =z ) (Xx4)+y =4dx+y (=z+3x)
Construct drapezium ABCD which has:
- base AB = 5.5cm, height = 3 cilA = 75°, = 50°.
a) By measuring and calculating, work out: i) its per|m§ ||) S area.

perimeter ~* 14.6 cm area® 11.2 cm?

b) Draw any axis. Reflecttrapezium ABCD irt.
S. 5

The sum of the digits of a 4-digit number is 15. The digits in the greatest and small
place values are the same but are less than the two middle digits. The two middle
have a difference of 1.

What could the 4-digit number be?671, 1761, 2562, 2652, 3453 or 3543

est
digits

The combined ages of the 4 members of a family is 70 years. Mum is 6 times as 0
her son and 10 times as old as her daughter. Dad is 2 years older than Mum.

das

How old is each member of the family? Mum Dad Son Daughter

30 +32 + 5 + 3 =70(years)
Page 135
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A man walks at aaveragespeed of% km/hour. How far does he walk i 2hours?
ll—; km = 11% km

N

What is the whole quantity if:

a) Oofitisé0kg  b) 55%ofitis £273.02  ¢) Shofitis 142 litres?
70 kg £496.40 5 9litres

2

If a = 12+ 3§ andb = 12+ 22, what is the value of:

a) a3.6 b) b 48 c) a+b 438 d) a-b _42e) a+b 33 f) b + a?40
11 55 55 40 33

EN

422 1
12 of a number is § what is 3% of the same number?57 = 2157
5 3 5

El

Here is some information about the dimensions of an aluminium cuboid:

30.8 cm 18.48 cm
a=2385cm, b=80ofa, b :—?%ofc

a) Calculate the volume of the cub8igl5 cm x 30.8 cm x 18.48 cm = 21 913.58 cm?
b)  Calculate the mass of the solid if 13%omh aluminium weighs 2.7 g59.167 kg

a) Draw a square and label its vertices, sides and diagona

b)  Write true statements about the square, using words or mathematical notation.
e.g. The two equal diagonals are perpendicular and bisect each other.

a) Draw arectangle and label its vertices A, B, C and D.
b)  Mark the mid-points of the sides and label them E, F, G and H.

c) Draw the line of symmetry through E and G and mark the midpoint Bf line
segment EG. Label the midpoint O.

d)  What are thenirror imagesof points F, D and O, C, 0

e) What are thenirror imagesof triangles AEG, GCB and AOB~
BEG | GDA | BOA D G

Reflecttriangle ABC in line AB. €

Page 136
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A

. . . . line of symmetry
Draw anisosceles triangleand label its vertices. c b

Draw its lines of symmetry.
B C
Write 4 true statements about the triangle in wordsing mathematical notation.

e.g. angle ABC = angle ACB; AB = AC; tthe two right-angled triangles
are congruent; line of symmetry bisects BC

Construct and label:

a) a4s° angIeI : b) a120° angle. N

E a) Draw arequilateral triangle which has sides of length 2 cm.
b) Draw a triangle which has sides 3 times longer than those in the 1st triangiesides
c) How many times more than the area of the 1st triangle is the area of the 2nd
triangle? ~ 9.2 times
d) How many times more than the perimeter of the 1st triangle is the perimeter of
the 2nd triangle? 3 times (6 cm and 18 cm)
a) Construct arsosceles trianglavhich has a side of length 4 cm as its base and
angles of75° at its baseline.
b)  Measure the necessary data then calculate the perimeter of the trianglg. .ficm
perimeter ~ 19 cm 7.7cC
c) Calculate the area of the triangle 2
area ~ 15 cm
4cm
a) Construct @eltoid which has sides of length 4 cm and 6 cm and the length of
the diagonal which lies on its line of symmetry is 8 cm.
4c 6 cm
b) Calculate its perimeter20 cm
c) Measure the necessary data, then calculate its aree\ (height ~ 5 8 cm)
area=232cnt 4cM 6cm

Two opposite angles ofdeltoid are 50° and110°.
Calculate the size of the other two angleg60° - 500 - 110°) + 2 = 100°

a)
b)
c)
d)

e)

Construct ahombus which has diagonals 8 cm and 5 cm long.
Measure the distance between two opposite si ~ 4.2 cm

Measure its angles and add them togetheg’+ 64°+ 116° + 64° = 360°
Calculate the perimeter of the rhombus. 4x4.7cm=18.8cm

Calculate the area of the rhombus. 4cmx5cm =20 cm’
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The cross-section of a 3.5 m long pine beam is a 16 cm sgBaren x 0.16 m x 0.16 m

If 1 m? of pinewood weighs 500 kg, what is the mass of the beam? = 0.0896 m®

0.0896 x 500 kg = 44.8 kg

A container shaped like a 35 cm cube was filled with wate35 cm X 35 cm x 35 cm
2 =42 875cm?3
We ladled out half of the water, then ladled %ubf the remaining water.

21 437.5 cm? x é =12862.5 cm?®

How much water was left in the containeBive your answer in litres.
~ 12.9 litres

The spire of a church is shaped like a pyramid. The edges of its square base are 3
long and each of its side faces is 5.2 m high.

How many m of tin plate are needed to cover the spire?
4x(3.5mx52m=+2)=36.4m?

The volume of aquare-based pyramidcan be calculated using this formula:

1921 1
v=AT"h (17 289 x 3) + 362 =75 =40 z5

whereA is the area of the base amds the height of the pyramid.
How high is the pyramid if its base edge is 36 cm and its volume is 1728%: 40 cm

4 3 1 5 2 _ , 23 ) S
a) %X17_%Z_18EHX4§_? 18 b) What|560f3 kg? ,

65 kg =32k

c) |If 3% times a length is 2—;1 m, what is the whole length? 21 21

6.25m

A tailor bought 35 rolls of a certain material. Each roll originally contained 26.5 m @
material but the tailor has already used 19 and 3 quarter rolls.

How many men's suits can he make from the remaining material if each suit needs

average 3.1 raf material?
(15.25x26.5m) + 3.1 = 130.36  Answer: 130 men's suits

bSm

7

g

on

I spent 9.5% of my money and had £304.08 left. How much money did | have at first?

£336

52% of the 350 pupils in a school are girls. How many girls and how many boys att
this school? 182 girls 168 boys

The edge of a container shaped like a cube is 24 cm. A second container shaped |
cuboid holds the same amount of liquid24 cm x 24 cm x 24 cm = 13 824 cm?

If the base edges of the second container are 36 cm and 24 cm, how high is it?
13 824 cm + (36 x 24) = 16 (cm)

Page 138
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a) i) Inhow many ways can you publuie and awhite counter in order?2 BW or

i) Ifitis done randomly, what is the probability that the order will be
blue, white? %

b) i)  How many ways are there of putting in orddxlae, awhiteand ared

counter? BWR, BRW, RWB, RBW, WRB, WBR 6 ways (3x2x 1=6

i) If the orders happen at random, what is the probability that the order will
bered, blug white? %

c) i) How many ways are there of putting in orddxlae, awhite, ared and a
greencounter? 24 ways (4x3x2x 1=24)

i) If the orders happen at random, what is the probability that the order will
bewhite, red, green blue? 21_4

a) i) Three horses, A, B and C, are running in a race. How many orders are
possible for 1st, 2nd and 3rd places?ways (3x2x 1 =6)

i) If each of the different orders has an equal chance of happening, what is

probability of the order C, A, B2L
6
b) i) Four horses, A, B, C and D, are running in another race. How many ord

are possible for %st, 2nd and 3rd places? ways (4 x 3 x 2 x 1 =24)
i) p(CAB) =725

c) i) Five horses, A, B, C, D and E are running in a 3rd race. How many orde
are possible for 1lst, 2nd and 3rd placesé?0 ways (5 x4 x 3 = 60)
i) p(CAB)= ’?5

Two white marbles and oned marble are in a bag. If you take out a marble with you
eyes shut, what is the probability of each of these outcomes?

1
a) Youtake outtheedmarble. 37 b)  You take outwhite marble%
c) You take out theed marble, replace it then take out tied marble againl

wWB

=

‘9
d) You take out avhite marble, then take out the other Whﬁarble.% :%
e) You take out avhite marble, replace it then take outvhite marble again4
f)  You take out avhite marble, replace it then take out ted marble.% 9
g) You take out theed marble, replace it, then take ouwhite marble. 2
9
If each member of a group shakes hands with each of the others, how many hands
occur if there are: LN\
ABC
a) 2 members in the group b) 3 members in the g®up ~
<~

c) 4 members in the group d) 5 members in the group A B GC-D
~

hakes

e) 11 membersinthe group f)  n members in the group? n (> 1)
11x10

=55 n(n-1) A g CDE
2 Page 139 2
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a) Draw arequilateral triangle and label its vertices.
b) Draw its lines of symmetry.

c)  Write 4 true statements about the triangle, using words or S RN

e.g. mathematical notatioriotational symmetry order 3. AB=BC= CAA M B
The point of intersection of the lines of symmetry is the centre of the triangle.
/A = B = «C. The symmetry lines divide the triangle into 6 congruent,
right-angled triangles.

d) Are all equilateral trianglesimilar? yes: all 3 angles are equal to 60°

This prism has 2 triangular faces, each with base 12 cm,

height 8 cm and side edges 10 cm. 720 = 48 = 15 cm

10c
a) How long is the prism if its volume is 720 &mn 8lcm e om
b)  What is the surface area of the prism? 12 Em

(48 + 48 + 150 + 150 + 180 cm? = 576 cm’

What is the whole quantity if:

a) g ofitis £60  b) 11%of itis £27.28  «¢) %z)f itis 12% litres?
£84 £248 5.4 litres

A glass container shaped like a cube has edges 8 cm I8ngn x 8 cm x 8 cm = 512 cm?®

A second tall glass container shaped like a cuboid has a 4 cm square base.

If the cube is filled with water and the water is then poured into the cuboid, what

height will the water level reach? 2 5
512 cm” + 16 cm” = 32 (cm)

After running a half marathon, | lost 7.5% of my body weight and weighed 94.35 kg
What did | weigh before the raced4.35 kg + 92.5 x 100 = 102 kg

There are 2ed marbles, dluemarbles and white marble in a bag. If you take out a
marble with your eyes closed, what is the probability of each of these outcomes?

2_1
a) You take out ged marbleg=§ b)  You take outlaue marble% = %

c) You take out thevhitemarble, replace it then take out thkitg@ marble agai% x% 1

8

1
d) You take out aed marble, then take out the other marble% X 5: 3%
e) You take out dluemarble, replace it then take out a bfuarble again. g xg = 396

f)  If you take out 3 marbles, replacing them each time, what is the probability that:

i) the 3 marbles you take out will be blu%'Xg X g % X % % é

N . : 7
i) you will take out at least 2 different colours? 3

e.g. draw spinner with different

Write problems which have these probabilities as their solutions.

p(score on die < 6)
a) 3 b) 1 c) £} d) 7 e 8 pie-chart
10 4 6 13 15 problems
choosing cards

from a pack

R P 14
numbers of divisions age 140
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